
Complete the web if the

center is “five-sixths”.

 

Complete the web to fit the

situation represented by this

quote from an article:

“Youth exposure to alcohol
advertising on U.S. television
increased 71%...”

 

Complete the web to fit the

situation represented by the

diagram below.

 



Complete the web if the

center is “ ”.
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Complete the web to fit the

situation represented by this

quote from an article:

“Youth exposure to social
media is 93%”

 

Complete the web to fit the

situation represented by the

diagram below.


